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Diskrete Finanzmathematik

Blatt 5

Aufgabe 1 Es sei M := (Ω,F , P, (St)t∈{0,1,2}, (Ft)t∈{0,1,2},Asf ) ein endlicher Markt mit D := 1
und Ω := {ω1, . . . , ω7}. Es seien S0

t := 100 + 5t für t = 0, 1, 2 sowie

S1
0 := 100, S1

1(ω) :=


110, ω ∈ {ω1, ω2, ω3}
90, ω ∈ {ω4, ω5, ω6}
63, ω = ω7,

S1
2(ω) :=



120, ω = ω1

110, ω = ω2

100, ω ∈ {ω3, ω4}
90, ω = ω5

75, ω = ω6

66, ω = ω7

und
F1 :=

{
(S1

1)−1(B) : B Borelmenge in R
}
.

Untersuchen Sie M auf Arbitragefreiheit.

Aufgabe 2 Es sei M := (Ω,F , P, (St)t∈{0,1,2}, (Ft)t∈{0,1,2},Asf ) ein endlicher Markt mit D := 1
und Ω := {ω1, . . . , ω4}. Es seien S0

t := 100 für t = 0, 1, 2 sowie

S1
0 := 100, S1

1(ω) :=

{
110, ω ∈ {ω1, ω2}
90, ω ∈ {ω3, ω4},

S1
2(ω) :=


120, ω = ω1

100, ω ∈ {ω2, ω3}
80, ω = ω4

und
F1 :=

{
(S1

1)−1(B) : B Borelmenge in R
}
.

Bestimmen Sie ein äquivalentes Martingalmaß für M.


